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[ O O O musicl.c#include#includevoid pause(int).void
soundl(int,int).void main(void){ int i,freq,speed=5. int
time=4*speed. char *qgm="iddgwwwaqqgfff dddfghhhggg
ddgwwwaqqgfti\ ddffhjaqaaq wpggihgddgag hhawwajjggg\
ddgwwwaqqqgfff ddffhjgggqqq"”./*00 O O T */ while (*gm =\0){
I=1. switch(*qm){ case k: time=1*speed. i=0. break. case I
time=6*speed. i=0. break. case o: time=10*speed. i=0. break. case p:
pause(time). i=0. break. case a: freq=523. break. case s: freq=587.
break. case d: freq=659. break. case f: freq=698. break. case g:
freq=784. break. case h: freq=880. break. case j: freq=988. break. case
Z. freq=262. break. case X: freq=294. break. case c: freq=330. break.



case v: freq=349. break. case b: freq=392. break. case n: freq=440.
break. case m: freq=494. break. case q: freq=1047. break. case w:
freq=1175. break. case e: freq=1319. break. case r: freq=1397. break.
case t: freq=2568. break. case y: freq=1760. break. case u: freq=1976.
break. default: i1=0. break. } if(i) sound1(freg,time). }}void
soundl(int freq,int time) /*freq O O O timed 0O O O O */{
union{ long divisor. unsigned char c[2]. }count. unsigned char ch[J
count.divisor=1193280/freq. /* 1193280 1 O U 0O O 1O OO */
outp(67,182). outp(66,count.c[0]). outp(66,count.c[1]).
ch=inp(97). outp(97,ch|3). pause(time). outp(97,ch).}void
pause(int time){ int t1,t2. union REGS in,out. in.h.ah=0X2c.
int86(0X21,amp.out). /* 0 O O O O */ t1=t2=100*out.h.dh
out.h.dl. /*out.h.dnh O O O O out.h.dl 0 1/100 O OO */ while(t2-t1 {
Int86(0X21,amp.out). t2=100*out.h.dh out.h.dl. if (t2 }}9.3.2 0 [
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